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Reasoning and Problem Solving

(o)o) 3+3+3=3x3

S
Is Mo correct? Explain why.
Draw an image to help you.
Use <, > or = to make the statements

correct.

O 5+5+5+5

©)
O

2+2

5+5+5

He is correct Think of a multiplication to complete:
because
3+3+3=9

and3x3=9 6+6+6>__ x__

The total is 12, what could the addition
and multiplication be?

3x5<5+5+
5+5

2x2=2+2

10x2>5+5+
5

Spr214 - Multiplication X |+

Any two numbers
which multiply
together to give an
answer of less
than 18

6+6=2x6

24242424242
=6x2

3+3+3+3=4x3
4+4+4=3x4
12=1x12
THTHTHT+H1+1+

TH1+1+141=12
x1
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Use <, > or = to make the statements
correct.

3%x5 (O 5+5+5+5

2x2 O  2+2

ox2 () 5+5+5





